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better to forget that you ever heard "sticky delta" or "sticky 

strike" vol heuristics. i understand you ppl into sticky sht but 
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in an environment where fixed strike vol is falling when asset prices fall and rising when they 

rise, in order for a long skew position (long downside put, short upside call, dynamically 

hedged) to break even, the skew curve needs to be upward sloping! 

this is because when you are long skew, you are short vanna: as the underlying asset falls, 

you get long fixed strike volatility exposure, and as fixed strike vol rises you get short 

exposure to the underlying asset 

if spot falls and fixed strike vol drops, you get long vol and long delta and lose money on it; 

and you were paying theta for the privilege (assuming skew is inverted like normal in equity 

indices) 

just because skew is at the 1st percentile of its own historical distribution doesn't mean you 

will make money owning it if it eventually reverts to more normal ranges; it may end up 

carrying sharply negative against you (as now) 

another example of first order thinking almost never works in derivatives, need to 

understand the nuances of how the math works in a proper attribution framework in a 

portfolio that is losing you money 

ow ain't cheap 

https://twitter.com/bennpeifert/status/1584652615060979712


 

 

 


